Question Paper Title : TI_34

Date of Exam : 25-07-2019 02:30 PM

Reference ID:(17426) Wit fadiedT IR AT SI0TaT Uil WTelt feaiedr gamsft srgeuut Jod
C 15
The Boulevard Road near Nehru Park Dal Lake Srinagar 190001, Gagribal,
Srinagar, Jammu and Kashmir 190001
094190 90888

(i) The Boulevard Road near Nehru Park Dal Lake Srinagar 190001,
Gagribal,

Srinagar, Jammu and Kashmir 190001

094190 90888

(i) The Boulevard Road near Nehru Park Dal Lake Srinagar 190001,

Gagribal, Srinagar, Jammu and Kashmir 190001

094190 90888

(iii) The Boulevard Road near Nehru Park Dal Lake Srinagar 190001,
Gagribal, Srinagar, Jammu and Kashmir 190001

094190 90888

(iv) The Bowlevard Road near Nehru Park Dol Lake Srinagar 190001,

Gagribal, Srjinagar, Jammu and Kashmir 190001
094190 90888

B.ii
C.iii

D.iv

Answer: D.iv

Reference ID:(17428)  3fIFig 3107 1§ A=A aqH FATHENT TUNTR 3% 5:3 3. 4 Il g
g 3107 4 IR ST quHd TOMR 1:1 3178, 4 TV 3MHed ag HTor
4 auTqdf STge amed iR &1 SR

B.2:1

C.3:1



D4:1

Answer: C3:1

Reference ID:(17433) R SIft v S FagH @ quf &
6, 8, 14, 26, 46, 76,

A.84
B.96
C.112

D.118

Answer: D.118

Reference ID:(17166) Choose the appropriate prepositional phrase for the given sentence:
the rains, we went out for the picnic.

A.On behalf of
B.In spite of
C.Respite of

D.In case of

Answer: B.In spite of

Reference ID:(17190)  Jeld THIGT 31 faRIWUI= yata HaeT.
HUS

ATg
B.SRAR!

CHS
D .fauraa

Answer: Adg

Reference ID:(17165) Choose the appropriate prepositions for the given sentence:

Many families are satisfied the results they get homeschooling.



A.with ... from
B.from ... in
C.against ... out

D.of ... of

Answer: A.with ... from

Reference ID:(17182)  UaId a1 AT TRY dIRT 3Ncol.

A fa=it a8t gaa.

B.foit a8t g,
C. et a8t gRaxdl.
D.fa=it a8t gRac.

Answer: c.fa=it _q'é)[ ETHFﬁ

Reference ID:(17162) Choose the most suitable determiner for the given sentence:

of the two pay any attention during class. They are always day
dreaming.

A.Either
B.Each
C.Neither

D.Both

Answer: C.Neither

Reference ID:(17189)  Jeld dreddid SRR eI UHR 3Mcsdl.
“q i g bt 3 WU PTaT Anvvel, S ared T,
A YTl 3qy
B3N 30y
C.HIAUIRT 37y
DAERIIERI I R esps)

Answer: D fepafavivor s



Reference ID:(17437) 31301 ATHT G AR YT Hd T8 AT A SR 10 fwi/drg a1 9 vard
&l R Al AT fEHTUR gURT 2 areTar digdd 3i=ft 1 0T shil. T 15
fpdl T Tar ohetl @R ol 9 GURT 12 dTSldl Uigad. gURT 1 dreldl &
f&hTult dig=uarardt & favdt 9 gaT Sl

A.8 ferlamg

B.10 fhH/aN

C.12 ferdtam

D.14 fhH/ag

Answer: C.12 frHaN™

Reference ID:(17415)  SIMARI'M9 ALY 9 dT 3RS F&H RiSH BIh= HERIPII PIUT WG
3T dbeft Tefl Bl

A 3ATETE
B.AiCS

C. IR
D. et

Answer: A 3NATETE

Reference ID:(17422)  JEHIT dTgHTH § HISTUITITS! ITURATd:

A.dIdIORUnq clYHIA
B. A4l IR AT0HH
C. ¥R ATaH
DTN o dTqH

Answer: B. A4l YRR dI9™

Reference 1D:(17425) IRRRT DIEl.
78, 89, 65, 82, 98 & 98

A.85



B.56
C.58

D.98

Answer: A.85

Reference ID:(17186)  fadiedn UTdd I fohamug s,
W50l

A o5l
B.¥e5d
C.Wosad
D.&e5drd

Answer: C.Wodd

Reference ID:(17157) Choose the option with the appropriate suffix to complete the given
sentence:

If he helps others, he always expects them to be recipro

A.-city
B.- cal
C.-ment

D.-en

Answer: B.- cal

Reference ID:(17174)  faciedn sqirergd arg ST 2rsg fHaer.
ST

AHS
B.hwY

C.qe

Answer: B.h=5U



Reference ID:(17151) Choose the sentence with the correct punctuation to convey the right
meaning.

A.What a beautiful morning said the boy!
B.“What a beautiful morning!” said the boy.
C.What! A beautiful morning said the boy.

D.“What a beautiful morning said the boy?”

Answer: B.“What a beautiful morning!” said the boy.

Reference ID:(17154) Choose the correct form of adjective for the given sentence:

Knowing no better, he used very language.

A.spontaneous
B.accurate
C.inappropriate

D.correct

Answer: C.inappropriate

Reference ID:(17171) Out of the following options, identify a simple sentence.

A.Gulliver opened his eyes gently.
B.Only to find himself surrounded by strange people.
C.Try as much, he was unable to raise himself.

D.There were birds in the sky and ants below him.

Answer: A.Gulliver opened his eyes gently.

Reference ID:(17172) Choose the correct form of tense for the given sentence:

Yesterday | to the market, although it

A.go, rained
B.goes, is raining
C.went, was raining

D.went, is raining



Answer:

Reference ID:(17411)

Answer:

Reference ID:(17406)

Answer:

Reference ID:(17441)

Answer:

Reference ID:(17193)

C.went, was raining

N

HIUTT IATAT HIRd RN dafades HTTOT UTRI&for faHme=n 3-af-i ufliaie
MR WU ufget 9ot fiesret?

A dERTon

B.HERIY
C.uf¥w §rd

D .ISTRITH

A dETon

YR TRHTY] 351 HeTHE e Hdifad (TTURISIEA) 3Mf0T Tolae Riict af
BTG URHTY Sl UebeUITd! HERTPHE YEHUTE Ui 3iTel 31872

Adiad
B.SITs

C.3Raret
D.SIATR

D.SATQR

3T AR 3118, 61 feai-t Hiora feaq 3da?

ARMAR
B.XfdaR
C.gHaR

D.HIBdR

ARMAR

qeid areITaiel 3oy 3ol

T=A1 AT AT TS IT TSl dTed -g1?

ATEl
B.dlol

C.urst



D ATt

Answer: AT

Reference ID:(17177) R SIFf I e feral.
JUEH HYH AT GOR UTedl.

ATTSTIHTST
B.HISIHS®!
c.amstHSHt
D.drcHis!

Answer: C.IMSHS D]

Reference ID:(17438) 50 WSl TRINRY 38 3Tg. SR 45 31101 55 T GIH HAT HIg b, R
IR TR TR 1T 3a?

A.37.5
B.35
C.36.75

D.38

Answer: A.37.5

Reference ID:(17187) O ggiamt Hds &,

gP iR ISl

Afamara
ACE]

C fag
D.fawul

Answer: Afaedd

Reference ID:(17176)  faoiedn Wsgierdd favgrd 2rsq i,
U — TTdTesT X

IR



C. g
D YT TH

Answer: B."lcc®T

Reference ID:(17432) R Simft aivar S FagH @t quf &
5,6,16, 244, 1245

A.28
B.55
C.57

D.61

Answer: C.57

Reference ID:(17410)  WTeTcUh! HIUIAT AT faua o= FHague a1 Treke HasueT 2019
Hiadd I Hedl HUIR ATgId?

A.3{TY U=
B.3ffg2m

cfogr
D.RrawiH

Answer: Cﬁ%ﬂ

Reference ID:(17200)  WTdlcides! & I0Tl Afg-ardT Ufeedl STedsaried gRasl 9= Sitd ITg Tl
STel?
A.3fTdeTeR

B.9YR
C . STHaR!

PRIEER

Answer: A.3ffaeTaR



Reference ID:(17161)

Answer:

Reference ID:(17159)

Answer:

Reference ID:(17421)

Answer:

Reference ID:(17152)

Choose the correct form of verb for the given sentence:

| cannot my car out because the engine work.

A.takes ... don’t
B.take ... doesn’t
C.taking ... isn’t

D.took ... can’t

B.take ... doesn’t

Choose the appropriate articles for the given sentence:

In 1929, Fleming wrote __ report of his laboratory experiments, presented it
at__ medical meeting, and had it printed in ___ medical journals.

A.No article required ... the ... a
B.the ... the ... the
C.the ... a ...no article required

D.a ... a... no article required

D.a ... a... no article required

SR 3fR-de8 3{TelRd 8T IhIhR 3R R dl I

A TP UM T a1ad
B.3THM 3T ITad

Choose the option that has NOT been punctuated correctly.

A.l always have a hard time getting up in the morning.
B.We took: a tent, a cooler, and a sleeping bag.

C.The fog was as thick as potato soup.



D.Sara bought three new pairs of shoes, even though she had put herself
on a tight budget just last week.

Answer: B.We took: a tent, a cooler, and a sleeping bag.

Reference ID:(17188)  Resr Wit avg gty faa.
‘AfdRed 8 37099 3Te.
A Hadydrt sy
B.IHATGU! 30
C Rl 3oy
D foarfaRiur srer

Answer: C.m‘ﬂ Y

Reference ID:(17191)  Y&ld areTd fabdit f[ARINOr 3i7ed, o 3fie.
Tdcdl 98NS dhael HIdT YA SHTUTETd qwa! ?

AR
B.R
C3

D.¥

Answer: C3

Reference ID:(17434)  UUTAATE 60% TP el 3Mad, SaRd TEIHHYT 60% Txid SuSidl
3TIOT SThT Y& AT Ha! 3Tgd. SR SUsiia 4800 Y 3¥dd, TR
T Ha T Jdehid! ThUl e &1 Mg ?

A.3400
B.3500
C.3100

D.3200

Answer: D.3200

Reference ID:(17402)  H&S Beaid WA ST R JUR ST (SUTEe) =T Sifad hmed
1-0 A TRIYd ZTciedT JoTe A1d JiT.



AHSE PaTe T
B.UW! el

C.97TdE Pedid i (Tha1)
D.3R® SRy (e

Answer: BJIW mar

Reference ID:(17169) Choose the most appropriate usage to fill in the blank in the given sentence:

Teachers give their students tests and assessments

A.periodically
B.periodic
C.period-wise

D.period

Answer: A.periodically

Reference ID:(17424) 7136985 IT TATET 3Tl Il HhHM JHISUN dhedR e fdbdt
3P id VM FGAUIR 1817

ATD
B.aM
cdH

D.dR

Answer: B.gH

Reference ID:(17440) QT fedied Y@L 3icviar U ARy oH fadd 38, AR Iebial hH

1527, 1185, 985, 865, 823, 817

A.985
B.865
C.823

D.817

Answer: A.985



Reference ID:(17412)

Answer:

Reference ID:(17419)

Answer:

Reference ID:(16950)

Answer:

Reference ID:(17181)

e Wieiate! S Sgesersiaiid, aF fdar sifie Isararét teha
! ASUTA WU e S0 A TR 2

A.3T5G 153
B.3fJ®5¢ 158
C.31=5¢ 156
D. 3G 163

A3 ¢ 153

JeR Y8 AEFTRUTICIDT (THRITSIEH) I 3eef U JdT GUITITS! Jelierda!
D101 Ufgell Afgdl TRIATAHT a1l 31?2

A.31SIT Hedl

B. W fayrRT@
C. g §d
D.fa% Y HETS 4R

B. W fayrRma

Choose the option that has the correct spelling for the missing word in the
given sentence:

The mouse ate the which was kept on the table.

A.chise
B.chese
C.cheese

D.cheeze

C.cheese

qatd areITe bR Sicswl.
Tl ATChTd HTH HRUR 378,

A faemeff
B gleriff



C.AeRf

D. 3t

Answer: B.él%l?llﬁ

Reference ID:(17199) AR 2019 &Y Wi DIV HIST SRS Teg-all TGaRTd IgT0T
R REBR Y& HRUTT 3MTell?
A THIE R

B. TR X[
C.fleud Siaq
D.3fd uead

Answer: B.XYRTH M4

Reference 1D:(17184) fedied ST uRad- HRUgMNTe! TG Taiy fAgeT,
3froft f3rare Y i 3. (i)
AT 3
B.gid
X IIUGKI
D. Fiffreredt gleft

Answer: B. i

Reference ID:(17409) quiAed ferdt=i fgm Siftr IRrsived iy geamiaes Buefta
TeY quf Fal.
A.1801
B.1904
C.1789

D.1679

Answer: C.1789



Reference ID:(17431)

Answer:

Reference ID:(17164)

Answer:

Reference 1D:(16949)

Answer:

Reference ID:(17155)

The series given below contains a sequence of numbers. Identify the
incorrect combination: / ATl fadedT §Eaqed 3fdian Te fafkiy »H faaan
3Te. AR bl Y ol

1,3, 6, 11, 20, 39, 70

A3
B.39
(O

D.20

B.39

Choose the correct form of modal auxiliary verb for the given sentence:

we do the working up for you?

A.Shall
B.May
C.Might

D.Will

A.Shall

Choose the option that has the correct spelling.

A.Foreward
B.Forword
C.Forworde

D.Foreword

D.Foreword

Fill in the blank with the correct noun for the given sentence:

Drugs not only alter but also memory, mood and

A.pathways ... boredom
B.vision ... perception

C.perception ... behaviour



Answer:

Reference ID:(17436)

Answer:

Reference 1D:(17445)

Answer:

Reference 1D:(17429)

Answer:

D.thinking ... childhood

C.perception ... behaviour

TS Had! 10 ANITAE Yo guf el df ufgan sref garg 21 fordiam a1 exm
HR! 30T GERT S7ef Far 24 fHH/ANT a1 X Hxal. fhaiexq s dhaar

WUl UdIH olel.

A.121 fout
B.242 fodt
C.224 foruit
D.112 foruit

C.224 fodt

TS Aol WA G auigdf 2000 ¥9Y §id. Ufgedn auf @™ et
WAL 20% IFHH STHT dhail. JeodT a4l A drgaed] IHHAT 10% IFhH

STHT !, 2 FHHR A WM TR0 IGHH Hlal.

A.2650
B.2640
C.2740

D.2840

B.2640

JeIdd 99 § a1 e e gared diF Ue SR 318, 8 aui-ar, &id ad
Jifecran quTeaT S Ue 3. 8 aNiHdR, detard ad Afeaean aare faadt
Ue 3&a?

A2Uc
B.3Uc
Cc4Uc

D.5Uc

A2Yc



Reference ID:(17178)

Answer:

Reference ID:(17435)

Answer:

Reference ID:(17156)

Answer:

STeYeg T e (AST.

A TAHISR
B.aiaddsl
C arsfewr

D.dNREIC

B.diaddsl

60 fameate o, 40% faendf arffbetae 3<iol S, 5% faemdf gfegam
ol ST arfchep el AU T 3M1foT 20% faemf Qe fawata 3<iof g,
T g EHT AUt Il FTced gt Te ®1al?

A7

B.33

C.23

D.37

B.33

Choose the appropriate collective noun to complete the sentence:

Scientists have recently discovered that a
approaching the earth’s surface.
A.galaxy

B.constellation

C.belt

D.group

C.belt

of asteroids is fast



Reference ID:(17153)

Answer:

Reference ID:(17408)

Answer:

Reference ID:(17198)

Answer:

Reference 1D:(17430)

Choose the correct form of adjective for the given sentence:

He must have done his duty, because he is a/an man.

A.upright
B.conscientious
C.conscious

D.truthful

B.conscientious

Gd YU 24 BgdRT 2019 ol TREGRAYA (AUH-fHHM) Udhed = o],
"HUH-fa-d Juf WU S 311g?

AT J3t fae T fAdh

B.gY T4t fraH Rigg 914 =i
C.9YM T3t ot e I=
D .U T3 foogm gy fAmfor

ATYH J3t fa™ I fAeh

JeId areTd Yaiaia 3 aIeER Hagl,
ol T WIS BT A&Td 3HTg.

A g RO
B. T TR Ul
C.IT g

D.HIgR SHCqUl

B.HATd TR H0!

31 3HFeIaR 1984 Al HIUIT fead Blan?

AFUIR
B.IR=dR

C.XhdR
D.XMAR



Answer:

Reference ID:(17414)

Answer:

Reference ID:(17439)

Answer:

Reference ID:(17170)

Answer:

Reference ID:(17413)

AFUYIR

Wmmwwmmm Uedh fSida
2

A TSR &<
B. el afcre
C.TidT BT

D.gRe $UR
D.gRe $UR

4 T&Y 3101 6 Higdl Th &Y 8 feauie qul edrd, R 3 G 1T 7 Afgar

d B 10 fEa9id guf H= Fard. 10 AT o B fobct feawid gof exdia?

A.35 faaq
B.40 fgaw
C.45 faaq
D.50 fdaw

B.40 feayg

Choose the correct form of verb that is in agreement with the subject:

It was either Kendra or Zoé who volleyball to the picnic.

A.brought their
B.brought her
C.bought their

D.bought there

B.brought her

AU R 311872

ATTEsg-85
B.UTS&Y-32



C.TT8&Y-200
D.TT8&Y-202

Answer: AUSsY-85

Reference ID:(17197)  JaId AIayRIRI<AT A S{TdT Uaid e,

AR 80
B.3rgAY a0t

D. AT HR0]

Answer: B.3rgHY 30!

Reference ID:(17407)  2019-20 auiuTdtan HeRIFHET SidRH i ed Hivrdm sy fa< #xigR Aax
T T BIaT?

A STUDHR (A
I
C.gUR ictar

D.HgTed PR

Answer: C.gUR Gictar

Reference ID:(17180)  RabTHI SIFT 4.
T g PR 3R
A¥
B
C.3

D.&

Answer: C3



Reference ID:(17168) Choose the appropriate conjunctions for the given sentence:

He sprained his ankle played on to win the match.

A.and
B.otherwise
C.but

D.because

Answer: C.but

Reference ID:(17444) U Xed 48 fopHl/dIiaa] TRIRT 97T 4raet, @) ARy siar 50 e
HTId. YT des 40 THAC Tae HH HRuaral Yoo fddl 9 rargan

gd?

A.50 fHl/a™
B.60 fhHl/aN™
C.65 ferdam

D.70 fhH/ag

Answer: B.60 fhH/aN

Reference ID:(17192)  3Hdbad-id U add .

qadT 3= GTORS! 31eR UTE SMGTAT dlsc dTed.

AT 3 UTORS $1&R T Al dlsc aled.
B.d3 31 3{&R UTg Hall dTsc dled.

C. T 3=t TTOREY 3f&R UTEH SETaT dTse ared.
D.q3 =7 UTURS 31&R UIgH SHTRIa dlsc aed.

Answer: B.dY 31 &R UTg Hell drsc dred.

Reference 1D:(17404) g GaeHTTat HRATN gfgail SH-® 3% Y IuSa;

ABIEG
B.H&s

C faeedt
D.9dIe



Answer:

Reference ID:(17196)

Answer:

Reference ID:(17158)

Answer:

Reference ID:(17185)

Answer:

Reference 1D:(17403)

A BSXIETG

RERECIRECRCA CCIA

A SEISPR
B.9Ie&PR
C.9fgsh

D.§i&hR

D.98hR

Choose the option with the appropriate
sentence:

suffix to complete the given

| am ready to sweet the dish to make it more tasty.

A.-er
B.-en

C.-est

facie U avg =g g,
TSI (YT, T a U geara. (A=)

A Yigad!

B.UEA
C.Yidgd

D.Yidgddrd

C.Yiagd

HRAMeD, AT B R faag g1 e auff

A11 eOdR
B.10 fgdR

ISl OISl STl



c.12 feiR
D.13 fedsR

Answer: B.10 fgdsR

Reference ID:(17417) Y03 d&fUl [RIHR 2019 AL 9 IUHH SHT0T ITH Ueadr Afia IaH Tl
BT REPR AGRIYHTA NIAECINIS

ATEH! F<HAC die
B.JU HelHe dis

C.3{IATETE HelHe 9

D.3[EHETR HTITic dle

Answer: D.3gHGIR ﬁ?ﬁ—dﬁﬁé

Reference ID:(17183) R STt 9y Teg fHaaT.
SIUTRT SATATIAST Sierd! e 3 U,

ASEY
B.lagy

C. 3RS
D.&H

Answer: A.B%QH

Reference ID:(25009) A, B 30T C T HTH 3{IhH 24, 6 3101 12 feaqined quf & Wdhard. Tad
BHTH B o el [eadid B guf & HdId:



3= feag

4 feaw

Answer:

3= feag

Reference ID:(17443) A 81 U& fAlRI¥ & 12 fGawid qul &= ddl. B BT A U&l 60% 31 Hried
3. I HTH HUIEIS! B @1 foboett fay anaia?

A.16/4
B.15/2
C.12

D.14/3

Answer: B.15/2

Reference ID:(17175)  faciedl YsgiTerdd fasarf 2req i,
ferd — Rad X

ATTT
B.gV
C.HIqeH

D.9ged

Answer: ATUTT

Reference ID:(17194)  Jeld dledTdid [aRTHg 3HIesl.
for<ll B SMETd qret WTes ST qH=arRf it e WU Saad Hal.

Adafeg

B.3[dcRU g
C.IeRfIsg



Answer:

Reference ID:(17167)

Answer:

Reference 1D:(17446)

Answer:

Reference ID:(17405)

Answer:

D . FanTe

C.IeRfI=g

Choose the most suitable conjunction for the given sentence:

| have been waiting here for a long time, my friend has not turned
up.

A.and

B.though

C.moreover

D.but

D.but

56 ¥Ud/fhand fdhAd srgaar 8 fod TgTan 69 SUd/fdhd g 32 fbd IgT
30T 75 SUT/fHU 3reied 25 food ggrad fHgesar Trar Sfor fHsomdt 20%
R faeet et fsomed fast fhua Frer (vuaiag)?

A.82.64
B.83.64
C.80

D.85

B.83.64

YR Hfaemre arae uRiRIsT=ar Jaad! G Qieieie! HIordT e/
faw Hefdd g?

A TSRS R HTFOT Ta=sdl
B.g4

C.Xi® Tadog
D. N

B.aq



Reference ID:(17427)

Answer:

Reference ID:(17195)

Answer:

Reference 1D:(17420)

Answer:

Reference ID:(17418)

Uy fogr= SRl 1 grger g4
ANZBOYCPXD?W

AQ

B.T

C.u

D.S

AQ

Y&l Xsar! faverdt sfea

AUYHT

C.IwH!
ARG

C.IwH!

Snfeard aemeie W=uel Afearara! HgRIY MM JTciade! BTl

BIEENIR SRSV

A.&R urg

B.TUIS 3fegdd Had 3 Tlol]
C.3fcd fagRY At eid dieH
D. ¥ TR i

B.UUN 3fsgdl el 3Hd ISl

2019 =T 17 AT AlbaH HIST® A, THul

TS

OdeM Udd SR 3178,

A.542

B.543



Answer:

Reference ID:(17416)

Answer:

Reference ID:(17163)

Answer:

Reference ID:(17450)

C.541

D.540

B.543

HERIFHYA S-S a1 & Ul 4 QREBR 2019 I3t
GTeierde! ST fHaS HRudaTd Sl

A fGTOR Bigae
B.%ad g dleH
C. &t T
DEICGISKAIRR]

A fGTOR BigaeR

Which of the following options best combines the two given sentences?

| know. Sawan will become a great dancer like Michael Jackson.

A.l know that Sawan will become a great dancer like Michael Jackson.
B.l know that Sawan becomes a great dancer like Michale Jackson.
C.l was informed that Sawan became a great dancer like Michale Jackson.

D.Sawan becomes a great dancer like Michael Jackson.

A.l know that Sawan will become a great dancer like Michael Jackson.

1]

m



Answer:

Reference 1D:(17442)

Answer:

Reference ID:(17179)

Answer:

Reference ID:(17423)

1]

m

1]

m

Ueh] HATUTATh S 600 foh¥l diges 3T, ST Hlg! digedrl M 15% TR
3101 IR AR M 20% diear fash! !, T a1 JafaR THUT 6% diel
TSN, 20% dica™ AT dgh! haed digesTd THTU ST 3MTg?

A.300 ff
B.410 f&d
C.360 f&i

D.210 f&

C.360 f&

SR SMTUeTal HfafRed YT STURRY dled, a) Wdiaud! HIuT awq
YT ART Sl 43 Kbd?



Answer:

Reference ID:(17173)

Answer:

Reference ID:(17401)

Answer:

Reference ID:(17160)

AT ord groft
B.gY

C.3¥

IRGEAERIL

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

If you don't have a place to stay, you can't get a job, and with no job you
can't get an apartment. It's a Catch 22 situation.

A.a situation where one factor depends on another
B.a situation where you are caught red handed

C.a situation that depends on luck

D.a situation that revolves round destiny

A.a situation where one factor depends on another
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Choose the appropriate articles for the given sentence:

____introduction of direct distance dialing in 1951 was one of ___ most
significant developmentin ___ effort to improve long-distance service.

A.No article required ... the ... an
B.The ... the ... an

C.The ... a...No article required



D.The ... a... the

Answer: B.The ... the ... an



